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QUADRILATERALS

Solved Examples

1. Three angles of a quadrilateral measure .

Find the measure of the fourth angle.

A. 

B. 

C. 

110∘ , 82∘ and 68∘

80∘ .

100∘ .

200∘ .

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_66cCdf2jq84R


D. 

Answer: B

Watch Video Solution

70∘ .

2. The angles of a quadrilateral are in the ratio  Find

all the angles of the quadrilateral.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3: 5: 9: 13.

A = 36∘ , ∠B = 50∘ , ∠C = 108∘ and ∠D = 156∘ .

A = 36∘ , ∠B = 60∘ , ∠C = 180∘ and ∠D = 156∘ .

A = 36∘ , ∠B = 60∘ , ∠C = 108∘ and ∠D = 150∘ .

A = 36∘ , ∠B = 60∘ , ∠C = 108∘ and ∠D = 156∘ .

https://dl.doubtnut.com/l/_66cCdf2jq84R
https://dl.doubtnut.com/l/_Zy4wEMb862e4


3. In a||gm ABCD, if 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∠A = 115∘ ,  find ∠B, .

75∘

85∘

65∘

55∘

4. Diagonals AC and BD of a parallelogram ABCD intersect at O. If

OA = 3 cm and OD = 2 cm, determine the lengths of AC and BD.

A. 

B. 

AC = 6cm, BD = 2cm

AC = 6cm, BD = 4cm

https://dl.doubtnut.com/l/_g1SME8IenLic
https://dl.doubtnut.com/l/_7J6O6kkar1px


C. 

D. 

Answer: B

Watch Video Solution

AC = 3cm, BD = 4cm

AC = 3cm, BD = 3cm

5. In the adjoining figure, ABCD is a rectangle whose diagonals AC

and BD intersect at O. If  

W h Vid S l i

∠OAB = 28∘ ,  find ∠OBC.

https://dl.doubtnut.com/l/_7J6O6kkar1px
https://dl.doubtnut.com/l/_riS6muhzEWfP


Watch Video Solution

6. The diagonals  and  of a parallelogram 

intersect each other at the point O. If

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

AC BD ABCD

∠DAC = 32∘ and ∠AOB = 70∘ ,  find ∠DBC.

35∘

38∘

40∘

45∘

https://dl.doubtnut.com/l/_riS6muhzEWfP
https://dl.doubtnut.com/l/_FZN1ZF0if4Xn


7. In the adjoining figure, ABCD is a rhombus. If

 

A. 

B. 

C. 

D. 

∠A = 70∘ ,  find ∠CDB.

∠CDB = 85∘ .

∠CDB = 75∘ .

∠CDB = 55∘ .

∠CDB = 65∘ .

https://dl.doubtnut.com/l/_OCLdOne8LhmP


Answer: C

Watch Video Solution

8. ABCD is a rhombus such that 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∠ACB = 40∘ .  Find ∠ADB.

20∘

30∘

50∘

40∘

https://dl.doubtnut.com/l/_OCLdOne8LhmP
https://dl.doubtnut.com/l/_s2VDLbe7za1m


9. lf D, E and F are respectively the midpoints of the sides BC, CA

and AB of an equilateral triangle ABC, prove that  is also

an equilateral triangle.

Watch Video Solution

△ DEF

10. In , D, E and F are respectively the mid-points of sides

AB, BC and CA. Show that is divided into four congruent

triangles by joining D, E and F.

Watch Video Solution

ΔABC

ΔABC

11. Let 
 be an isosceles triangle with 
 and let 


 be the mid-points of 
 and 
 respectively.

Show that 
and 
is bisected by 

Watch Video Solution

ABC AB = AC

D, E, F BC, CA AB

AD ⊥ FE AD FE.

https://dl.doubtnut.com/l/_rGYnYEUfzzm2
https://dl.doubtnut.com/l/_Z4MRWQxIS64A
https://dl.doubtnut.com/l/_uKZIEtHWYVeD


Watch Video Solution

12. Let ABC be a triangle, right-angled at B and D be the midpoint

of AC. Show that DA = DB = DC.

Watch Video Solution

13. The figure formed by joining the mid-points of the adjacent

sides of a quadrilateral is

Watch Video Solution

14. E and F are respectively the midpoints of the non-parallel

sides AD and BC of a trapezium ABCD. Prove that 

(i) 


(ii) 

EF ∣ ∣ AB,

EF = (AB + CD).
1

2

https://dl.doubtnut.com/l/_uKZIEtHWYVeD
https://dl.doubtnut.com/l/_rm2Vwn2qVyos
https://dl.doubtnut.com/l/_sTaU8tLhzL5F
https://dl.doubtnut.com/l/_nlR5tL4WbNb5


Watch Video Solution

15. Prove that the line joining the mid-points of the diagonals of a

trapezium is parallel to the parallel sides of trapezium and is half

of their difference.

Watch Video Solution

16. ABCD is a trapezium in which , BD is a diagonal

and E is the mid-point of AD. A line is drawn through E parallel to

AB intersecting BC at F (see Fig. 8.30). Show that F is the mid-

point of BC.

Watch Video Solution

AB  ∣ ∣  DC

https://dl.doubtnut.com/l/_nlR5tL4WbNb5
https://dl.doubtnut.com/l/_6zSeKajNCaz4
https://dl.doubtnut.com/l/_NcTSQ52V58pj


Example

17. ABC is a triangle right-angled at C. A line through the

midpoint P of hypotenuse AB and parallel to BC intersects AC at

M. Show that 

 M is the midpoint of  





Watch Video Solution

(i) AC,

(ii) MP ⊥ AC,

(iii) CP = AP = AB.
1

2

1. The sides BA and DC of a quadrilateral are produced as shown

in the given figure. Prove that  
x + y = a + b.

https://dl.doubtnut.com/l/_Oy3u8UK3voH6
https://dl.doubtnut.com/l/_RsaNhFeYvGSK


Watch Video Solution

2. In a quadrilateral ABCD the linesegment bisecting

 meet at E. Prove that 

Watch Video Solution

∠C and ∠D ∠A + ∠B = 2∠CED.

https://dl.doubtnut.com/l/_RsaNhFeYvGSK
https://dl.doubtnut.com/l/_HZpJmdsW4GL4


3. In the adjoining figure, a point O is taken inside an equilateral

quad. ABCD such that OB = OD. Show that A, O and C are in the

same straight line. 

Watch Video Solution

https://dl.doubtnut.com/l/_3HkSmPYkAFl3


4. In the adjoining figure, ABCD is a quadrilateral in which AB is

the longest side and CD is the shortest side. 

Prove that (i)  

Watch Video Solution

∠C > ∠A,   (ii) ∠D > ∠B.

5. In the adjoining figure, the bisectors of  of a

quadrilateral ABCD meet CD and AB produced at P and Q

∠B and ∠D

https://dl.doubtnut.com/l/_xMSgQLDADthW
https://dl.doubtnut.com/l/_54IREr3i04pr


respectively. 

Proove that 

 


Watch Video Solution

∠P + ∠Q = (∠B + ∠D).
1

2

6. If ABCD is a quadrilateral whose diagonals AC and BD intersect

at O, prove that 

https://dl.doubtnut.com/l/_54IREr3i04pr
https://dl.doubtnut.com/l/_mtjhKz4Vd99S


(i)  

(ii)  


Watch Video Solution

(AB + BC + CD + DA) > (AC + BD),

(AB + BC + CD + DA) < 2(AC + BD).

7. In the given figure, ABCD is a square. A line segment DX cuts

the side BC at X and the diagonal AC at O such that

https://dl.doubtnut.com/l/_mtjhKz4Vd99S
https://dl.doubtnut.com/l/_y2h4r9zgBfoA


. The value of x is 


Watch Video Solution

∠COD = 105∘ and ∠OXC = x

8. In the adjoining figure, ABCD is a parallelogram and X, Y are the

points on the diagonal BD such that DX = BY. Prove that 

(i) CXAY is a parallelogram, 

(ii)  
△ ADX ≅ △ CBY and △ ABY ≅ △ CDX, and

https://dl.doubtnut.com/l/_y2h4r9zgBfoA
https://dl.doubtnut.com/l/_T7SuCLwRYCr0


(iii)  


Watch Video Solution

AX = CY and CX = AY .

9. Prove that in a parallelogram, the bisectors of any two

consecutive angles intersect at right angles. 

https://dl.doubtnut.com/l/_T7SuCLwRYCr0
https://dl.doubtnut.com/l/_7kg3dVkDPPFb


Watch Video Solution

10. ABCD is a parallelogram and AL and CM are perpendicualrs

from vertices A and C on diagonal BD, as shown in the adjoining

https://dl.doubtnut.com/l/_7kg3dVkDPPFb
https://dl.doubtnut.com/l/_S6GIN24ngPV9


figure. Show that (i)  and (ii) AL = CM. 


Watch Video Solution

△ ALB ≅ △ CMD

11. In the adjoining figure, ABCD is a parallelogram and line

segments AX and CY bisect  respectively. Proove that∠A and ∠C

https://dl.doubtnut.com/l/_S6GIN24ngPV9
https://dl.doubtnut.com/l/_84XHxAQyacFa


AX||CY. 

Watch Video Solution

12. Show that the bisectors of the angles of a parallelogram

enclose a rectangle. 

https://dl.doubtnut.com/l/_84XHxAQyacFa
https://dl.doubtnut.com/l/_sr0FHYrtQleD


Watch Video Solution

13. If a diagonal of a parallelogram bisects one of the angles of

the parallelogram, prove that it also bisects the angle opposite it,

and that the two diagonals are perpendicular to each other. 

https://dl.doubtnut.com/l/_sr0FHYrtQleD
https://dl.doubtnut.com/l/_5sYLqlwJwpN0


Also, prove that it is a rhombus. 

View Text Solution

14. Let  be two triangles given in such a

way that AB||DE, AB = DE, BC||EF and BC = EF. 

Prove that 

△ ABC and △ DEF

https://dl.doubtnut.com/l/_5sYLqlwJwpN0
https://dl.doubtnut.com/l/_bnTD44w3wZJY


(i) AC||DF and AC = DF, 

(ii)  


Watch Video Solution

△ ABC ≅ △ DEF .

15. In the adjoining figure, ABCD is a parallelogram in which X and

Y are the midpoints of AB and DC respectively. If AY and DX

intersect in P while CX and BY intersect in Q, show that 

https://dl.doubtnut.com/l/_bnTD44w3wZJY
https://dl.doubtnut.com/l/_AuEpclFkLp8G


 


(i) quad. AXCY is a parallelogram, 

(ii) quad. XBYD is a parallelogram, 

(iii) quad. PXQY is a parallelogram.

Watch Video Solution

16. In the adjoining figure, ABCD is a parallelogram and E is the

midpoint of AD. A line through D, drawn parallel to EB, meets AB

produced at F and BC at L. Prove that 

https://dl.doubtnut.com/l/_AuEpclFkLp8G
https://dl.doubtnut.com/l/_4ZbkP2MFvMpq


(i) AF = 2 DC and (ii) DF = 2DL. 

Watch Video Solution

17. In the adjoining figure, AB = AC: CP||BA and AP is the bisector

of  Prove that 


(i)  


∠CAD.

∠PAC = ∠BCA and

https://dl.doubtnut.com/l/_4ZbkP2MFvMpq
https://dl.doubtnut.com/l/_oizq6xrCft1B


(ii) ABCP is a parallelogram. 

Watch Video Solution

18. In the adjoining figure, ABCD is a parallelogram and the

bisector of  bisects BC at X. Prove that AD = 2AB. ∠A

https://dl.doubtnut.com/l/_oizq6xrCft1B
https://dl.doubtnut.com/l/_cDNlCBFTvKwY


Watch Video Solution

https://dl.doubtnut.com/l/_cDNlCBFTvKwY


19. In the adjoining figure, ABCD is a parallelogram, E is midpoint

of AB and CE bisects . Prove that 


 


(i) AE = AD (ii) DE bisects  and (iii) .

Watch Video Solution

∠BCD

∠ADC ∠DEC = 90∘

20. ABCD is a trapezium in which AB||CD and AD = BC. Show that 

(i) 

∠A = ∠B and ∠C = ∠D,        (ii) △ ABC ≅ △ BAD and

https://dl.doubtnut.com/l/_D1vMsWxvdwKA
https://dl.doubtnut.com/l/_7mMeNuNz9Q1s


(ii) AC = BD. 

View Text Solution

21. ABCD is a parallelogram in which E and F are the midpoints of

the sides AB and CD respectively. Prove that the line segments CE

https://dl.doubtnut.com/l/_7mMeNuNz9Q1s
https://dl.doubtnut.com/l/_7VflVPLZs6gA


and AF trisect the diagonal BD. 

Watch Video Solution

22. Let ABCD be a trapezium in which AB||DC and let E be the

midpoint of AD. Let F be a point on BC such that EF||AB. Prove

that 

https://dl.doubtnut.com/l/_7VflVPLZs6gA
https://dl.doubtnut.com/l/_g1cYtDg7bcnR


 


(i) F is the midpoint of BC, (ii) 

Watch Video Solution

EF = (AB + DC).
1

2

23. In the adjoining figure, ABCD is a ||gm in which P is the

midpoint of DC and Q is a point on AC such that 

Also, PQ when produced meets BC at R. Prove that R is the

CQ = AC.
1

4

https://dl.doubtnut.com/l/_g1cYtDg7bcnR
https://dl.doubtnut.com/l/_EB6WKVhjkxju


midpoint of BC. 

Watch Video Solution

24. In the adjoining figure, AD is a median of  and E is

the midpoint of AD. Also, BE produced meets AC in F. Prove that

△ ABC

https://dl.doubtnut.com/l/_EB6WKVhjkxju
https://dl.doubtnut.com/l/_gg2AE9znlPg3


 


Watch Video Solution

AF = AC.
1

3

25. In the adjoining figure, ABCD is a trapezium in which AB||DC

and AD = BC. If P, Q, R, S be respectively the midpoints of BA, BD,

https://dl.doubtnut.com/l/_gg2AE9znlPg3
https://dl.doubtnut.com/l/_lpyMJBj61UF5


CD, CA then show that PQRS is a rhombus. 

Watch Video Solution

26. In the adjoining figure, ABCD and PQRC are rectangles, where

Q is the midpoint of AC. Prove that 

https://dl.doubtnut.com/l/_lpyMJBj61UF5
https://dl.doubtnut.com/l/_rLKpHAU5UIgM


(i)  


Watch Video Solution

DP = PC,              (ii) PR = AC.
1

2

27. In the given figure, D, E and F are the midpoints of the sides

BC, CA and AB of  bisect DF at X while CF bisect DE atΔABC. BE

https://dl.doubtnut.com/l/_rLKpHAU5UIgM
https://dl.doubtnut.com/l/_KGWiC4eZCgrP


Y, then BC = a XY. Find a.

Watch Video Solution

28. In the adjoining figure, two points A and B lie on the same

side of a line XY. If  and C is the midpointAD ⊥ XY , BE ⊥ XY

https://dl.doubtnut.com/l/_KGWiC4eZCgrP
https://dl.doubtnut.com/l/_RPNx8QFQuXOi


of AB, prove that CD = CE. 

Watch Video Solution

29. In the adjoining figure, points M and N divide the side AB of

 into three equal parts. Line segments MP and NQ are

both parallel to BC and meet AC in P and Q respectively. Prove

△ ABC

https://dl.doubtnut.com/l/_RPNx8QFQuXOi
https://dl.doubtnut.com/l/_Sojz8LfEbg48


that P and Q divide AC into three equal parts. 

View Text Solution

30. E and F are respectively the midpoints of nonparallel sides AD

and BC of a trapezium ABCD. Prove that EF||AB. 

https://dl.doubtnut.com/l/_Sojz8LfEbg48
https://dl.doubtnut.com/l/_fYwEftenERJT


Watch Video Solution

31. Prove that any line segment drawn from the vertex of a

triangle to the base is bisected by the line segment joining the

https://dl.doubtnut.com/l/_fYwEftenERJT
https://dl.doubtnut.com/l/_n3WkFGF1RBcv


midpoints of the other sides of the triangle. 

Watch Video Solution

32. In the adjoining figure, the side AC of ABC is produced to

E such that . If D is the midpoint of BC and ED

produced meets AB at F, and CP, DQ are drawn parallel to BA,

△

CE = AC
1

2

https://dl.doubtnut.com/l/_n3WkFGF1RBcv
https://dl.doubtnut.com/l/_OW060sYHLBna


Exercise 10 A

prove that  


Watch Video Solution

FD = FE.
1

3

1. Three angles of a quadrilateral are . Find the

measure of the fourth angle.

Watch Video Solution

75∘ , 90∘ and 75∘

https://dl.doubtnut.com/l/_OW060sYHLBna
https://dl.doubtnut.com/l/_DPdCBu0r6RLv


2. The angles of a quadrilateral are in the ratio  Find

the angles.

Watch Video Solution

2: 4: 5: 7.

3. In the adjoining figure , ABCD is a trapezium in which AB||DC. If

 


Watch Video Solution

∠A = 55∘ and ∠B = 70∘ ,  find ∠C and ∠D.

https://dl.doubtnut.com/l/_SswIfh6GU0IW
https://dl.doubtnut.com/l/_l2wkpLSeg7Kj


4. In the adjoining figure, ABCD is a square and EDC is an

equilateral triangle. Proove that 

(i)  


Watch Video Solution

△

AE = BE,       (ii) ∠DAE = 15∘ .

https://dl.doubtnut.com/l/_b1RRiPODeR1r


5. In the adjoining figure,  and 

, prove that AC bisects BD. 

Watch Video Solution

BM ⊥ AC

DN ⊥ AC.  If BM = DN

6. In the given figure, ABCD is a quadrilateral in which AB = AD and

BC = DC, Prove that 

(i) AC bisects  
∠A and ∠C,         (ii) BE = DE,

https://dl.doubtnut.com/l/_b1RRiPODeR1r
https://dl.doubtnut.com/l/_FdSFEr1ZKVgc
https://dl.doubtnut.com/l/_S8QiGAMkH280


(iii) . 


Watch Video Solution

∠ABC = ∠ADC

https://dl.doubtnut.com/l/_S8QiGAMkH280


7. In the given figure, ABCD is a square and

 prove that 


(i) 

Watch Video Solution

∠PQR = 90∘ .  If PB = QC = DR,

QB = RC,            (ii)  PQ = QR,        (iii)  ∠QPR = 45∘ .

https://dl.doubtnut.com/l/_O3qQ38gpnvLE


8. If O is a point within a quadrilateral ABCD, show that

Watch Video Solution

OA + OB + OC + OD > AC + BD.

9. In the adjoining figure, ABCD is a quadrilateral and AC is one of

its diagonals. Prove that 

(i)  


(ii)  


(iii)  


AB + BC + CD + DA > 2AC

AB + BC + CD > DA

AB + BC + CD + DA > AC + BD.

https://dl.doubtnut.com/l/_wnPIKohHM3cH
https://dl.doubtnut.com/l/_0MTuNFk3KCkb


Exercise 10 B

Watch Video Solution

10. Theorem 1 the sum of the angles of a quadrilateral is  or

4 right angles.

Watch Video Solution

360∘

1. In the adjoining figure, ABCD is a parallelogram in which

. Calculate  
∠A = 72∘ ∠B, ∠C and ∠D.

https://dl.doubtnut.com/l/_0MTuNFk3KCkb
https://dl.doubtnut.com/l/_3WDqPfw44as3
https://dl.doubtnut.com/l/_cotKPMXQHkln


Watch Video Solution

2. In the adjoining figure, ABCD is a paralleogram in which

 Calculate∠DAB = 80∘ and ∠DBC = 60∘ .

https://dl.doubtnut.com/l/_cotKPMXQHkln
https://dl.doubtnut.com/l/_i99z2i0yqer0


 


Watch Video Solution

∠CDB and ∠ADB.

3. In the adjoining figure, M is the midpoint of side BC of a

paralleogram ABCD such that  Prove that ∠BAM = ∠DAM.

https://dl.doubtnut.com/l/_i99z2i0yqer0
https://dl.doubtnut.com/l/_Zw8rdinpvF2e


 

Watch Video Solution

AD = 2CD.

4. In the adjoining figure, ABCD is a parallelogram in which

 If the bisectors of  meet DC at P, prove

that (i)  (ii) AD = DP and PB = PC = BC, (iii) DC = 2

∠A = 60∘ . ∠A and ∠B

∠APB = 90∘ ,

https://dl.doubtnut.com/l/_Zw8rdinpvF2e
https://dl.doubtnut.com/l/_ztkHVgvqhcpp


AD. 

Watch Video Solution

5. In the adjoining figure , ABCD is a parallelogram in which

 


Calculate (i)

∠BAO = 35∘ , ∠DAO = 40∘ and ∠COD = 105∘ .

https://dl.doubtnut.com/l/_ztkHVgvqhcpp
https://dl.doubtnut.com/l/_qGN3iMvpJODU


 


Watch Video Solution

∠ABO,    (ii)  ∠ODC,      (iii) ∠ACB   and  (iv) ∠CBD.

6. In a parallelogram ABCD , if  and 

. Find the value of  and measure of each angle

of the parallelogram.

A. 

∠A = (2x + 25)
∘

∠B = (3x − 5)
∘

x

x = 32; ∠A = 69∘ , ∠B = 91∘ , ∠C = 69∘ and ∠D = 91∘

https://dl.doubtnut.com/l/_qGN3iMvpJODU
https://dl.doubtnut.com/l/_piaXo2wLelR3


B. 

C. 

D. 

Answer: B

Watch Video Solution

x = 32; ∠A = 89∘ , ∠B = 91∘ , ∠C = 89∘ and ∠D = 91∘

x = 32; ∠A = 89∘ , ∠B = 90∘ , ∠C = 89∘ and ∠D = 90∘

x = 32; ∠A = 109∘ , ∠B = 91∘ , ∠C = 89∘ and ∠D = 109∘

7. If an angle of a parallelogram is four fifths of its adjacent angle,

find the angles of the parallelogram.

A. 

B. 

90∘ , 100∘ , 90∘ , 100∘

80∘ , 100∘ , 80∘ , 100∘

https://dl.doubtnut.com/l/_piaXo2wLelR3
https://dl.doubtnut.com/l/_q7c5IHzTvD7x


C. 

D. 

Answer: B

Watch Video Solution

80∘ , 110∘ , 80∘ , 110∘

80∘ , 200∘ , 80∘ , 200∘

8. Find the measure of each angle of a parallelogram, if one of its

angles is  less than twice the smallest angle.

A. 

B. 

C. 

D. 

Answer: C

W h Vid S l i

30∘

70∘ , 120∘ , 70∘ , 120∘

80∘ , 110∘ , 80∘ , 110∘

70∘ , 110∘ , 70∘ , 110∘

90∘ , 110∘ , 70∘ , 110∘

https://dl.doubtnut.com/l/_q7c5IHzTvD7x
https://dl.doubtnut.com/l/_Iou2k7qzvfxk


Watch Video Solution

9. ABCD is a parallelogram in which AB=9.5 cm and its perimeter is

30 c. Find the length of each side of the parallelogram.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

AB = 6.5cm = DC, BC = 5.5cm = DA

AB = 5.5cm = DC, BC = 5.5cm = DA

AB = 9.5cm = DC, BC = 5.5cm = DA

AB = 8.5cm = DC, BC = 7.5cm = DA

10. In each of the figures given below, ABCD is a rhombus. Find

the value of x and y in each case. 

https://dl.doubtnut.com/l/_Iou2k7qzvfxk
https://dl.doubtnut.com/l/_NSqGB79qdFCq
https://dl.doubtnut.com/l/_hsCXBywrJTVV


Watch Video Solution

11. The length of the diagonals of a rhombus are cm and cm

respectively, find the length of each side of a rhombus.

A.  cm

B.  cm

C. cm

D.  cm

Answer: B

Watch Video Solution

24 18

17

15

16

20

https://dl.doubtnut.com/l/_hsCXBywrJTVV
https://dl.doubtnut.com/l/_fuQ7qu6wa8hw


12. Each side of a rhombus is 10 cm long and one of its diagonals

measures 16 cm. Find the length of the other diagonal and hence

find the area of the rhombus.

Watch Video Solution

13. In each of the figures given below, ABCD is a rectangle. Find

the value of x and y in each case. 

Watch Video Solution

https://dl.doubtnut.com/l/_p2SW3TC7e0CZ
https://dl.doubtnut.com/l/_0W8xLMtKpeuT


14. 
is a rhombus in which the altitude from 
to side 

bisects 
Find the angles of the rhombus.

Watch Video Solution

ABCD D AB

AB.

15. In the adjoining figure, ABCD is a square. A line segment CX

cuts AB at X and the diagonal BD at O such that

https://dl.doubtnut.com/l/_UUlJJHmwPe8G
https://dl.doubtnut.com/l/_7lMlQs5VbJMH


. Find the value of x. 

Watch Video Solution

∠COD = 80∘ and ∠OXA = x ∘

16. ABCD is a rhombus. Show that diagonal AC bisects as well

as and diagonal BD bisects as well as 

Watch Video Solution

∠A

∠C ∠B ∠D.

https://dl.doubtnut.com/l/_7lMlQs5VbJMH
https://dl.doubtnut.com/l/_ulk5Pxung7NS


17. In a parallelogram ABCD, points M and N have been taken on

opposite sides AB and CD respectively such that AM = CN. Show

that AC and MN bisect each other. 

Watch Video Solution

18. In the adjoining figure, ABCD is a parallelogram.If P and Q are

the points on AD and BC repectively such that  and 

 , prove that AQCP is a parallelogram , prove that

AP = AD
1

3

CQ =
BC

3

https://dl.doubtnut.com/l/_ulk5Pxung7NS
https://dl.doubtnut.com/l/_UiSxWgRu5MVs
https://dl.doubtnut.com/l/_CtffvLU7fI8C


AQCP is a parallelogram. 

Watch Video Solution

19. In the adjoining figure, ABCD is a parallelogram whose

diagonals intersect each other at O. A line segment EOF is drawn

https://dl.doubtnut.com/l/_CtffvLU7fI8C
https://dl.doubtnut.com/l/_t7GdmEmDGXH9


to meet AB at E and DC at F. Prove that OE = OF. 

Watch Video Solution

20. The angle between the altitudes of a
parallelogram, through

the same vertex of an obtuse angle of the
 parallelogram is 

Find the angles of parallelogram.

Watch Video Solution

600.

https://dl.doubtnut.com/l/_t7GdmEmDGXH9
https://dl.doubtnut.com/l/_IsEkkRSynofG
https://dl.doubtnut.com/l/_ZmubQvKE1WYN


21. ABCD is a rectangle in which diagonal AC bisects as well as

. Show that:(i) ABCD is a square (ii) diagonal BD bisects as

well as .

Watch Video Solution

∠A

∠C ∠B

∠D.

22. In the adjoining figure, ABCD is a parallelogram in which AB is

produced to E. so that BE = AB. Prove that ED bisects BC. 

Watch Video Solution

https://dl.doubtnut.com/l/_ZmubQvKE1WYN
https://dl.doubtnut.com/l/_roy2TWnIfmsr
https://dl.doubtnut.com/l/_DxChwiJJ1upg


23. In the adjoining figure, ABCD is a parallelogram and E is the

midpoint of side BC. If DE and AB when produced meet at F, prove

that AF = 2AB. 

Watch Video Solution

24. Two parallel lines l and
 m are intersected by a transversal p

(see Fig. 8.15). Show that
 the quadrilateral formed by the

bisectors of interior angles is a rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_DxChwiJJ1upg
https://dl.doubtnut.com/l/_eZ0J1cL4CIWZ


25. K, L, M and N are points on the sides AB, BC, CD and DA

respectively of a square ABCD such that AK = BL = CM = DN. Prove

that KLMN is a square.

Watch Video Solution

26. A  is given. If lines are drawn through A, B, C, parallel

respectively to the sides BC, CA and AB, forming , as

△ ABC

△ PQR

https://dl.doubtnut.com/l/_1eJCHmAkEWqP
https://dl.doubtnut.com/l/_U9AfJAmAOKNv


shown in the adjoining figure, show that  


Watch Video Solution

BC = QR.
1

2

27. In the adjoining figure,  is a triangle and through A,

B, C lines drawn, parallel respectively to BC, CA and AB,

intersecting at P, Q and R. Prove that the perimeter of 

△ ABC

△ PQR

https://dl.doubtnut.com/l/_U9AfJAmAOKNv
https://dl.doubtnut.com/l/_asr5PblX4IiE


Exercise 10 C

is double the perimeter of  


Watch Video Solution

△ ABC.

1. P, Q, R and S are respectively the midpoints of the sides AB, BC,

CD and DA of a quadrilateral ABCD. Show that 

(i) PQ||AC and  
PQ = AC
1

2

https://dl.doubtnut.com/l/_asr5PblX4IiE
https://dl.doubtnut.com/l/_z4lsp0HP5Gy0


(ii) PQ||SR 

(iii) PQRS is a parallelogram . 

Watch Video Solution

2. A square is inscribed in an isosceles right triangle so that the

square and the triangle have an angle common. Show that the

https://dl.doubtnut.com/l/_z4lsp0HP5Gy0
https://dl.doubtnut.com/l/_Aw4S1FrjY45v


vertex of the square opposite the vertex of the common angle

bisects the hypotenuse

Watch Video Solution

3.  is a parallelogram, E and F are the mid-points of AB

and CD respectively. GH is any line intersecting AD, EF and BC at G,

P and H respectively. Prove that 

Watch Video Solution

ABCD

GP = PH.

4. M and N are points on opposite sides AD and BC of a

parallelogram ABCD such that MN passes through the point of

intersection O of its diagoinals AC and BD. Show that MN is

bisected at O.

Watch Video Solution

https://dl.doubtnut.com/l/_Aw4S1FrjY45v
https://dl.doubtnut.com/l/_RNTJkgohaKM0
https://dl.doubtnut.com/l/_RwEBakxj3Y6G


5. In the adjoining figure, PQRS is a trapezium in which PQ||SR and

M is the midpoint of PS. A line segment MN||PQ meets QR at N.

Show that N is the midpoint of QR. 

Watch Video Solution

6. In a parallelogram PQRS, PQ = 12 cm and PS = 9 cm. The bisector

of  meet SR in M. PM and QR both when produced meet at T.

Find the length of RT.

Watch Video Solution

∠P

https://dl.doubtnut.com/l/_RwEBakxj3Y6G
https://dl.doubtnut.com/l/_j2i7JhuYyWse
https://dl.doubtnut.com/l/_uX6VHcWSk3CA


7. In the adjoining figure, ABCD is a trapezium in which AB||DC

and P, Q are the midpoints of AD and BC respectively. DQ and AB

when produced meet at E. Also, AC and PQ intersect at R. Prove

that (i) DQ = QE, (ii) PR||AB and (iii) AR = RC. 

Watch Video Solution

8. In the adjoining figure, AD is a median of  and DE||BA.

Show that BE is also a median of  


△ ABC

△ ABC.

https://dl.doubtnut.com/l/_uX6VHcWSk3CA
https://dl.doubtnut.com/l/_VBZh8grPTbRc
https://dl.doubtnut.com/l/_neMWGtWjyGbj


Watch Video Solution

9. In the adjoining figure, AD and BE are the medians of 

and DF||BE. Show that  


△ ABC

CF = AC.
1

4

https://dl.doubtnut.com/l/_neMWGtWjyGbj
https://dl.doubtnut.com/l/_3C5LE6nJmzBn


Watch Video Solution

10. Show that
the diagonals of a parallelogram divide it into four

triangles of equal area.

Watch Video Solution

11. In the adjoining figure, D, E, F are the midpoints of the sides

BC, CA and AB respectively, of  Show that △ ABC.

https://dl.doubtnut.com/l/_3C5LE6nJmzBn
https://dl.doubtnut.com/l/_s9AphkWvty0s
https://dl.doubtnut.com/l/_vV3rGnS5XKiC


 


Watch Video Solution

∠EDF = ∠A, ∠DEF = ∠B and ∠DFE = ∠C.

12. Show that the quadrilateral formed by joining the mid-points

of the
consecutive sides of a rectangle is a rhombus.

Watch Video Solution

https://dl.doubtnut.com/l/_vV3rGnS5XKiC
https://dl.doubtnut.com/l/_SNSQ47EqcG9N


13. prove using vectors: The quadrilateral obtained by
 joining

mid-points of adjacent sides a rectangle is a rhombus.

Watch Video Solution

14. Show that the quadrilateral, formed by joining the mid-points

of the
sides of a square, is also a square.

Watch Video Solution

15. Show that the
 line segments joining the mid-points of the

opposite sides of a quadrilateral
bisect each other

Watch Video Solution

https://dl.doubtnut.com/l/_5qBZ49SY7LNr
https://dl.doubtnut.com/l/_AGOSokUrE2ws
https://dl.doubtnut.com/l/_veDLMbL0GaS9


16. The diagonals of a quadrilateral ABCD are equal. Prove that

the quardilateral formed by joining the midpoints of its sides is a

rhombus.

Watch Video Solution

17. The diagonals of a quadrilateral 
 are perpendicular.

Show that the quadrilateral, formed by joining the
mid-points of

its sides, is a rectangle.

Watch Video Solution

ABCD

18. The midpoints of the sides  of a

quadrilateral ABCD are joined to form a quadrilateral. If

 then prove
 that the quadrilateral

formed is a square.

AB, BC, CD and DA

AC = BD and AC ⊥ BD

https://dl.doubtnut.com/l/_eTT1xAPHWpJF
https://dl.doubtnut.com/l/_XZvz9CDZj8D0
https://dl.doubtnut.com/l/_H7rDvJMamL8v


Multiple Choice Questions Mcq

Watch Video Solution

1. Three angles of a quadrilateral are . Its

fourth angle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

80∘ , 95∘ and 112∘

78∘

73∘

85∘

100∘

https://dl.doubtnut.com/l/_H7rDvJMamL8v
https://dl.doubtnut.com/l/_F3ybIaPjxyFv


2. The angles of a quadrilateral are in the ratio . The

largest of these angles is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3: 4: 5: 6

45∘

60∘

36∘

48∘

3. ABCD is a rhombus such that

 ?

A. 

∠ACB = 50∘ .  Then. ∠ADB =

50∘

https://dl.doubtnut.com/l/_Y9pFcmzcM27B
https://dl.doubtnut.com/l/_vclCSrPFXqDs


B. 

C. 

D. 

Answer: B

Watch Video Solution

40∘

65∘

130∘

4. In which of the following figures are the diagonals equal ?

A. Parallelogram

B. Rhombus

C. Trapezium

D. Rectangle

Answer: D

https://dl.doubtnut.com/l/_vclCSrPFXqDs
https://dl.doubtnut.com/l/_vvXSPuLCDozM


Watch Video Solution

5. Prove that; If the diagonals of a quadrilateral bisect each other

at right angles, then it is a rhombus.

A. trapezium

B. parallelogram

C. rectangle

D. rhombus

Answer: D

Watch Video Solution

6. The lengths of the diagonals of a rhombus are 12 cm and 16 cm.

Find the each side of rhombus

https://dl.doubtnut.com/l/_vvXSPuLCDozM
https://dl.doubtnut.com/l/_uUsoO5XAZ6iK
https://dl.doubtnut.com/l/_s6rcAt3iPYcM


A. 10 cm

B. 12 cm

C. 9 cm

D. 8 cm

Answer: A

Watch Video Solution

7. Each side
of a rhombus is 10cm. If one of its diagonals is 16cm

find the length of the
other diagonal.

A. 13 cm

B. 12 cm

C.  cm

D. 6 cm

2√39

https://dl.doubtnut.com/l/_s6rcAt3iPYcM
https://dl.doubtnut.com/l/_wDXjmtJBMmxI


Answer: B

Watch Video Solution

8. A diagonal of a rectangle is inclined to one side of the

rectangle at . The acute angle between the diagonals is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

35∘

55∘

70∘

45∘

50∘

https://dl.doubtnut.com/l/_wDXjmtJBMmxI
https://dl.doubtnut.com/l/_x1Bev9uV8ze8


9. If ABCD is a parallelogram with two adjacent angles 

then the parallelogram is a

A. rhombus

B. trapezium

C. rectangle

D. none of these

Answer: C

Watch Video Solution

∠A = ∠B

10. In a quadrilateral ABCD, AO and BO are the bisectors of

 respectively, 

?

∠A and ∠B

∠C = 70∘ and ∠D = 30∘ .  Then, ∠AOB =

https://dl.doubtnut.com/l/_8ul3915INzDs
https://dl.doubtnut.com/l/_geFVvdIC2Xgn


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

50∘

130∘

80∘

100∘

11. The bisectors of any two adjacent angles of a parallelogram

intersect at:

A. 

B. 

C. 

D. 

30∘

45∘

90∘

100∘

https://dl.doubtnut.com/l/_geFVvdIC2Xgn
https://dl.doubtnut.com/l/_w8wWxJ91xsLF


Answer: C

Watch Video Solution

12. The bisectors of the
 angle of a parallelogram enclose a

parallelogram (b) rhombus
rectangle (d) square

A. rhombus

B. square

C. rectangle

D. parallelogram

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_w8wWxJ91xsLF
https://dl.doubtnut.com/l/_gJhbI5Emjt0h


13. If bisectors of  of a quadrilateral ABCD intersect

each other at P, of

at S then PQRS is a

A. rectangle

B. parallelogram

C. rhombus

D. quardilateral whose opposite angles are supplementary

Answer: D

Watch Video Solution

∠A and ∠B

∠B and ∠C  at Q,  of ∠C and ∠D  at R and of ∠D and ∠A

14. The figure formed by
 joining the mid-points of the adjacent

sides of a quadrilateral is a
parallelogram (b)
rectangle (c) square

https://dl.doubtnut.com/l/_LVESZwvdZcRR
https://dl.doubtnut.com/l/_dkmEkYHlH5MR


(d) rhombus

A. rhombus

B. square

C. rectangle

D. parallelogram

Answer: D

Watch Video Solution

15. Show that the quadrilateral, formed by joining the mid-points

of the sides of a square is also a square.

A. rhombus

B. square

C. rectangle

https://dl.doubtnut.com/l/_dkmEkYHlH5MR
https://dl.doubtnut.com/l/_7AwyKEBoqC5G


D. parallelogram

Answer: B

Watch Video Solution

16. The figure formed by
 joining the mid-point of the adjacent

sides of a parallelogram is a
 rectangle (b)
 parallelogram (c)

rhombus
(d) square

A. rhombus

B. square

C. rectangle

D. parallelogram

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_7AwyKEBoqC5G
https://dl.doubtnut.com/l/_b73GGiUeHy59


Watch Video Solution

17. The figure obtained by joining the mid-points of the adjacent

sides of a rectangle of sides 8 cm and 6 cm, is

A. rhombus

B. square

C. rectangle

D. parallelogram

Answer: A

Watch Video Solution

18. The figure formed by
 joining the mid-points of the adjacent

sides of a rhombus is

https://dl.doubtnut.com/l/_b73GGiUeHy59
https://dl.doubtnut.com/l/_LM7TALEeUMHa
https://dl.doubtnut.com/l/_ZYYLeUu209ao


A. rhombus

B. square

C. rectangle

D. parallelogram

Answer: C

Watch Video Solution

19. The quadrilateral formed by joining the midpoints of the sides

of a quadrilateral ABCD, taken in order, is a rectangle, if

A. ABCD is a parallelogram

B. ABCD is a rectangle

C. diagonals of ABCD are equal

D. diagonals of ABCD are perpendicular to each other

https://dl.doubtnut.com/l/_ZYYLeUu209ao
https://dl.doubtnut.com/l/_Sowpm8JLuXK4


Answer: B

Watch Video Solution

20. The quadrilateral formed by joining the midpoints of the

sides of a quadrilateral ABCD, taken in order, is a rhombus, if

A. ABCD is a parallelogram

B. ABCD is a rectangle

C. diagonals of ABCD are equal

D. diagonals of ABCD are perpendicular to each other

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Sowpm8JLuXK4
https://dl.doubtnut.com/l/_zwUftebukpBw


21. The figure formed by joining the mid-points of the sides of a

quadrilateral ABCD, taken in order, is a square only, if

A. ABCD is a rhombus

B. diagonals of ABCD are equal

C. diagonals of ABCD are perpendicualr

D. diagonals of ABCD are equal and perpendicular

Answer: C

Watch Video Solution

22. If an angle of a parallelogram is two-third of
 its adjacent

angle, find that angle of the parallelogram.

A. 108∘

https://dl.doubtnut.com/l/_zEgRCzg3GWKF
https://dl.doubtnut.com/l/_oLHDg4M4tDSP


B. 

C. 

D. 

Answer: A

Watch Video Solution

54∘

62∘

81∘

23. Find the measure of all the angles of a parallelogram, if one

angle is 
less than twice the smallest angle.

A. 

B. 

C. 

D. 

240

68∘

102∘

122∘

136∘

https://dl.doubtnut.com/l/_oLHDg4M4tDSP
https://dl.doubtnut.com/l/_SsL2ZKXqvuE5


Answer: A

Watch Video Solution

24. If  of a quadrilateral ABCD, taken in

order, are in the ratio  then ABCD is a

A. rhombus

B. kite

C. Trapezium

D. parallelogram

Answer: C

Watch Video Solution

∠A, ∠B, ∠C and ∠D

3: 7: 6: 4

https://dl.doubtnut.com/l/_SsL2ZKXqvuE5
https://dl.doubtnut.com/l/_kkr8H8L0aZlm


25. Which of the following is not true for a parallelogram ?

A. Opposite sides are equal.

B. Opposite angles are equal.

C. Opposite angles are bisected by the diagonals.

D. Diagonals bisect each other.

Answer: C

Watch Video Solution

26. If APB and CQD are two parallel lines then the bisectors of

 enclose a

A. square

B. rhombus

∠APQ, ∠BPQ, ∠CQP and ∠PQD

https://dl.doubtnut.com/l/_5NItOoSXgDMO
https://dl.doubtnut.com/l/_yqctxvCWAMZe


C. rectangle

D. kite

Answer: C

Watch Video Solution

27. If area of a parallelogram with sides l and b is A and that of a

rectangle with sides l and b is B then

A. 

B. 

C. 

D. 

Answer: A

W h Vid S l i

A > B

A = B

A < B

A ≥ B

https://dl.doubtnut.com/l/_yqctxvCWAMZe
https://dl.doubtnut.com/l/_HFkEz0ORgkAS


Watch Video Solution

28. P is any point on the side BC of a . P is joined to a. If

D and E are the midpoints of the sides AB and AC respectively

and M and N are the midpoints of BP and CP respectively then

quadrilateral DENM is

A. a trapezium

B. a parallelogram

C. a rectangle

D. a rhombus

Answer: A

Watch Video Solution

△ ABC

https://dl.doubtnut.com/l/_HFkEz0ORgkAS
https://dl.doubtnut.com/l/_bcwRUtwlWzxx


29. The parallel sides of a trapezium are  and  respectively. The

line joining the midpoints of its non-parallel sides will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a b

(a − b)
1

2

(a + b)
1

2

2ab

(a + b)

√ab

30. Two parallelograms are on equal bases and between the same

parallels. 

The ratio of their areas is

https://dl.doubtnut.com/l/_tmPEvIaEEKUQ
https://dl.doubtnut.com/l/_mhmlvpjV2D2w


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1: 2

2: 1

1: 3

1: 1

31. Three statements are given below: 

I. In a ||gm, the angle bisectors of two adjacent angles enclose a

right angle. 

I. The angle bisectors of a ||gm form a rectangle. 

III. The triangle formed by joining the midpoints of the sides of

an isosceles triangle is not necessarily an isosceles triangle. 

Which is true?

https://dl.doubtnut.com/l/_mhmlvpjV2D2w
https://dl.doubtnut.com/l/_jLU7sjb4Q4sX


A. I only

B. II only

C. I and II

D. II and III

Answer: C

Watch Video Solution

32. Three statements are given below: 

I. In a rectangle ABCD, the diagonal AC bisects  as well as 

II. In a square ABCD, the diagonal AC bisects  as well as  


III. In a rhombus ABCD, the diagonal AC bisects  as well as

 


Which is true?

∠A ∠C.

∠A ∠C.

∠A

∠C.

https://dl.doubtnut.com/l/_jLU7sjb4Q4sX
https://dl.doubtnut.com/l/_Ro10ICwNcVt3


A. I only

B. II and III

C. I and III

D. I and II

Answer: B

Watch Video Solution

33. In a quadrilatereal PQRS, opposite angles are equal. If SR = 2

cm and PR = 5 cm then determine PQ.

Watch Video Solution

34. Diagonals of a parallelogram are perpendicular to each other.

Is this statement true? Give reason for your answer.

https://dl.doubtnut.com/l/_Ro10ICwNcVt3
https://dl.doubtnut.com/l/_K4LOKHANOKRk
https://dl.doubtnut.com/l/_HWcW0VcJlUL5


Watch Video Solution

35. What special name can be given to a quadrilateral PQRS If

?

Watch Video Solution

∠P + ∠S = 180∘

36. All the angles of a quadrilateral can be acute. Is this

statement true? Give reasons for your answer.

Watch Video Solution

37. All the angles of a quadrilateral can be right angles. Is this

statement true? Give reasons for your answer.

Watch Video Solution

https://dl.doubtnut.com/l/_HWcW0VcJlUL5
https://dl.doubtnut.com/l/_XHndAQpnvqR1
https://dl.doubtnut.com/l/_ytBh7UEbc7Wj
https://dl.doubtnut.com/l/_g3DQDEJ0FaEu


38. All the angles of a quadrilateral can be obtuse. Is this

statement ture? Give reasons for your answer.

Watch Video Solution

39. Can we form a quadrilateral whose angles are

? Give reasons for your answer.

A. Yes

B. No

C. Can not determine

D. None of these

Answer: B

Watch Video Solution

70∘ , 115∘ , 60∘ and 120∘

https://dl.doubtnut.com/l/_g3DQDEJ0FaEu
https://dl.doubtnut.com/l/_CEFUJRPuRyff
https://dl.doubtnut.com/l/_g3kLwEfLOJot


40. What special name can be given to a quadrilateral whose all

angles are equal?

A. Parallelogram

B. Rectangle

C. Trapezium

D. kite

Answer: B

Watch Video Solution

41. If D and E are respectively the midpoints of the sides AB and

BC of  in which AB = 7.2 cm, BC = 9.8 cm and AC = 3.6 cm

then determine the length of DE.

△ ABC

https://dl.doubtnut.com/l/_g3kLwEfLOJot
https://dl.doubtnut.com/l/_vtftFUk8KwF2
https://dl.doubtnut.com/l/_jP4L7npYh5q7


Watch Video Solution

42. In a quadrilateral PQRS, the diagonals PR and QS bisect each

other. If , determine 

Watch Video Solution

∠Q = 56∘ ∠R.

43. Is quadrilateral  a ||gm? 


I. Diagonals  and  bisect each other. 


II. Diagonals  and  are equal.

A. if the question can be answered by one of the given

statements alone and not by the other,

B. if the quesiton can be answered by either statement alone,

ABCD

AC BD

AC BD

https://dl.doubtnut.com/l/_jP4L7npYh5q7
https://dl.doubtnut.com/l/_BbV9gvEBHgV2
https://dl.doubtnut.com/l/_0QhUw2ZNV5mr


C. if the question can be answered by both the statements

together but not by any one of the two,

D. if the question cannot be answered by using both the

statements together.

Answer: A

Watch Video Solution

44. Is quadrilateral ABCD a rhombus ? 

I. Quadrilateral ABCD is a ||gm. 

II. Diagonals AC and BD are perpendicular to each other.

A. if the question can be answered by one of the given

statements alone and not by the other,

B. if the quesiton can be answered by either statement alone,

https://dl.doubtnut.com/l/_0QhUw2ZNV5mr
https://dl.doubtnut.com/l/_6sqSB0fbIYNx


C. if the question can be answered by both the statements

together but not by any one of the two,

D. if the question cannot be answered by using both the

statements together.

Answer: C

Watch Video Solution

45. Is ||gm ABCD a square? 

I. Diagonals of ||gm ABCD are equal. 

II. Diagonals of ||gm ABCD intersect at right angles.

A. if the question can be answered by one of the given

statements alone and not by the other,

B. if the quesiton can be answered by either statement alone,

https://dl.doubtnut.com/l/_6sqSB0fbIYNx
https://dl.doubtnut.com/l/_bCApNOsh627U


C. if the question can be answered by both the statements

together but not by any one of the two,

D. if the question cannot be answered by using both the

statements together.

Answer: C

Watch Video Solution

46. Is quadrilateral ABCD a parallelogram? 

I. Its opposite sides are equal. 

II. Its opposite angles are equal. 

The correct answer is : (a) /(b)/(c )/(d).

A. if the question can be answered by one of the given

statements alone and not by the other,

https://dl.doubtnut.com/l/_bCApNOsh627U
https://dl.doubtnut.com/l/_w6oDfd5RsDWc


B. if the quesiton can be answered by either statement alone,

C. if the question can be answered by both the statements

together but not by any one of the two,

D. if the question cannot be answered by using both the

statements together.

Answer: B

Watch Video Solution

47. Assertion (A) : If three angles of a quadrilateral are 

and  then the fourth angle is  


Reason(R) : The sum of all the angle of a quadrilateral is  

The correct answer is : (a) /(b)/(c )/(d).

130∘ , 70∘

60∘ 100∘

360∘

https://dl.doubtnut.com/l/_w6oDfd5RsDWc
https://dl.doubtnut.com/l/_evD6RipfMsMm


Multiple Choice Questions Mcq

A. Both Assertion (A) and Reason (R ) are true and Reaoson (R

) is a correct explanation of Assertion (A) .

B. Both Assertion (A) and Reason (R ) are true but Reason (R )

is not a correct explanation of Assertion (A).

C. Assertion (A) is true and Reason (R ) is false.

D. Assertion (A) is false and Reason (R ) is true.

Answer: D

Watch Video Solution

1. In the adjoining figure, ABCD is a parallelogram in which

. Then, ? 
∠BAD = 75∘ and ∠CBD = 60∘ ∠BDC =

https://dl.doubtnut.com/l/_evD6RipfMsMm
https://dl.doubtnut.com/l/_1ZUMcIItEV2t


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

60∘

75∘

45∘

50∘

https://dl.doubtnut.com/l/_1ZUMcIItEV2t


2. In the given figure, ABCD is a parallelogram in which

 ? 


A. 

B. 

C. 

D. 

Answer: C

∠BDC = 45∘ and ∠BAD = 75∘ .  Then, ∠CBD =

45∘

55∘

60∘

75∘

https://dl.doubtnut.com/l/_HYI7T3nAD2gL


Watch Video Solution

3. In the given figure, ABCD is a ||gm and E is the mid-point of BC.

Also, DE and AB when produced meet at F. Then. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

AF = AB
3

2

AF = 2AB

AF = 3AB

AF 2 = 2AB2

https://dl.doubtnut.com/l/_HYI7T3nAD2gL
https://dl.doubtnut.com/l/_DqGK2eYjBUjw


4. In a trapezium ABCD, E and F be the midpoints of the diagonals

AC and BD respectively. Then, EF = ? 

A. 

B. 

C. 

D. 

AB
1

2

CD
1

2

(AB + CD)
1

2

(AB − CD)
1

2

https://dl.doubtnut.com/l/_DqGK2eYjBUjw
https://dl.doubtnut.com/l/_8ECj5bPuYDh8


Answer: D

Watch Video Solution

5. In the given figure, ABCD is a parallelogram, M is the midpoint

of BD and BD bisects  as well as . Then, ? 


A. 

∠B ∠D ∠AMB =

45∘

https://dl.doubtnut.com/l/_8ECj5bPuYDh8
https://dl.doubtnut.com/l/_nXseXRdv53Zq


B. 

C. 

D. 

Answer: C

Watch Video Solution

60∘

90∘

30∘

https://dl.doubtnut.com/l/_nXseXRdv53Zq


6. In the given figure, ABCD is a rhombus. Then, 

A. 

B. 

C. 

D. 

Answer: C

AC 2 + BD2 = AB2

AC 2 + BD2 = 2AB2

AC 2 + BD2 = 4AB2

2(AC 2 + BD2) = 3AB2

https://dl.doubtnut.com/l/_LFb5LeTuEyUg


Watch Video Solution

7. In a trapezium ABCD, if AB||CD then  


A. 

B. 

C. 

D. 

(AC 2 + BD2) = ?

BC 2 + AD2 + 2BC ⋅ AD

AB2 + CD2 + 2AB ⋅ CD

AB2 + CD2 + 2AD ⋅ BC

BC 2 + AD2 + 2AB ⋅ CD

https://dl.doubtnut.com/l/_LFb5LeTuEyUg
https://dl.doubtnut.com/l/_otZDcevWswsC


Answer: D

Watch Video Solution

8. In the given figure, AD is a median of  and E is the

midpoint of AD. If BE is joined and produced to meet AC in F then

AF = ? 

△ ABC

https://dl.doubtnut.com/l/_otZDcevWswsC
https://dl.doubtnut.com/l/_tIoLSciGCN0a


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

AC
1

2

AC
1

3

AC
2

3

AC
3

4

9. The diagonals AC and BD of a parallelogram ABCD intersect

each other at the point O such that

https://dl.doubtnut.com/l/_tIoLSciGCN0a
https://dl.doubtnut.com/l/_0GWoKdiJ3wTl


? 


A. 

B. 

C. 

D. 

Answer: D

∠DAC = 30∘ and ∠AOB = 70∘ ,  Then, ∠DBC =

40∘

35∘

45∘

50∘

https://dl.doubtnut.com/l/_0GWoKdiJ3wTl


Short Answer Questions

Watch Video Solution

1. In the adjoining figure, BDEF and AFDE are parallelograms. Is AF

= FB? Why or why not? 

Watch Video Solution

https://dl.doubtnut.com/l/_0GWoKdiJ3wTl
https://dl.doubtnut.com/l/_mbNK88pCQsMZ


Assertion And Reason Type Mcq

1.  


The correct answer is : (a) /(b)/(c )/(d).

A. Both Assertion (A) and Reason (R ) are true and Reaoson (R

) is a correct explanation of Assertion (A) .

B. Both Assertion (A) and Reason (R ) are true but Reason (R )

is not a correct explanation of Assertion (A).

C. Assertion (A) is true and Reason (R ) is false.

D. Assertion (A) is false and Reason (R ) is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KQHJuTdV6T4S


2.  


The correct answer is : (a) /(b)/(c )/(d).

A. Both Assertion (A) and Reason (R ) are true and Reaoson (R

) is a correct explanation of Assertion (A) .

B. Both Assertion (A) and Reason (R ) are true but Reason (R )

is not a correct explanation of Assertion (A).

C. Assertion (A) is true and Reason (R ) is false.

D. Assertion (A) is false and Reason (R ) is true.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KQHJuTdV6T4S
https://dl.doubtnut.com/l/_kj7lZzCHxC1s


3.  


The correct answer is : (a) /(b)/(c )/(d).

A. Both Assertion (A) and Reason (R ) are true and Reaoson (R

) is a correct explanation of Assertion (A) .

B. Both Assertion (A) and Reason (R ) are true but Reason (R )

is not a correct explanation of Assertion (A).

C. Assertion (A) is true and Reason (R ) is false.

D. Assertion (A) is false and Reason (R ) is true.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_hVzKvZadIZh7


Matching Of Columns

4.  


The correct answer is : (a) /(b)/(c )/(d).

A. Both Assertion (A) and Reason (R ) are true and Reaoson (R

) is a correct explanation of Assertion (A) .

B. Both Assertion (A) and Reason (R ) are true but Reason (R )

is not a correct explanation of Assertion (A).

C. Assertion (A) is true and Reason (R ) is false.

D. Assertion (A) is false and Reason (R ) is true.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_BBHRqQ7YiAAl


1. Match the following columns: 

 


The correct answer is : 

(a) - ……., (b) - ……., (c ) - ……., (d) - ………

Watch Video Solution

2. Match the following columns: 

 


https://dl.doubtnut.com/l/_PJHcaEWl9J9M
https://dl.doubtnut.com/l/_kfmibzPz1daU


Watch Video Solution

https://dl.doubtnut.com/l/_kfmibzPz1daU

